EAGRAROBREERT — 2 N— ABISH —F

202010828 (&) 14EI&EE4R

AR A2 B4ER) C1 ¥5%—% ‘ [Xfg] B ‘ [EmAE] — | & (&) 18000 B
[AE4£] 1% :370,000  ~ 2#&:118,000 3#&:67,000 43#&:44,0008” . 53 :30,000 9
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. e 285 :00. -2-2- 2| - Br—A (BEE)
il g | Frras iy o4 s 2(0_0)9 2-2-2-2 | 40.2 2 zzg? A
LELFAYY BAK—TIAY—T P b N
ST £ 4 | ALE— 2:01.0 1-1-1-1 | 40.4| — 1 471 | ROFE (BHE)
7  FAREa RPN A (1/2) 0 © |EZAEE
R:TANNTTFHF— B:T7IOF1 TR BEZ %Y K
= = 4 5 | FIARE 2:01.5 6-6-6-5 |39.0 | — 8 455 | BHE (BEHE)
3 2| T AT 56.0 21/2) (q) | DAt
L:ANT =TI B:IAFFITN (B) #Aa—-Kr—va>aErr
- N KA . 77 — SEEy (BHE)
a5l | FLsA=Aq e 2.(021).9 7-7-7-6 | 39.3 3 ;1:325) i
:ANXZXTNVYT BiFLTRLT—T NE77—L
N en . [Ulf=sEEc] :02. -3-3- . - Sz (BEHE)
5 g| v n—y B4 LB (21012/21) 4-3-3-3 | 41.1 4 (4_544) it
RFxrvv¥/FxwF BiHEA-F A 18R
W KT — 47 | REETE 2:02.6 3-4-4-4 | 41.3| — 1 | 518 |H#HLEH (BEHE)
617110/ Ly KTI=T *52.0 2 1/2) (-5) |EHER=
R:d—IWRTI—7 B:FIN/A*H ®wE Ex
R . tr 4 | SHEKX 2:03.0 5-5-5-7 | 41.4| — 6 460 |BIIE—3 (BHE)
71111 Ey 707> - 56.0E ) 1) REEE
L:€rs07a4 BiwAI TIIAT AR
e s XEFAER : -9-9- — SiEEZ (BHE)
slgli1| EA>F¥av b o4 A8 2'83)'2 1178840 ! (1:2;) REF
RNX—HNK B:TF7T—FK—F— =R %%
o 4 6 | MR 2:03.4 8-8-8-9 |40.4| — 10 | 445 |AEEDL (BHE)
] 4| EZTIRY 54.0 ) ) | LR
LNnN=vo54 B:d-LFrFrlU— EEG)IH5
3 ¢ B4 | KemZE 2:06.9 9-10-10-10 | 42.9 | — 5 502 |SRBX (BHE)
10151 6 A3 INRIVLA {52.0 (21 ) (+9) $RE B i
LAy agHLyy B:ASa /g EREAUS
2 f 8 | MllIEe 2:07.0  [10-11-11-11| 42.8 | — | 9 | 445 [HLE (BHE)
11 3 A51.0 (7€) gy | (B J P NER
LTI Ty BiTANL—X KRW
— . e — 10 | BER— — - - - — — | HLEE (BHB)
x| 8|12| =R EQAYAT 1 il 56.0 () () |AfEmE
R:TFyraq K B:ALEOQTTI B &
® I —F—@EBIERL
13=zr= 7,9,10,8,1,2,5,4,6,3,11
23—+ — 7,9,8,10,1,2,5,4,11,6,3
Gal=7r= 7,9,8,10,1,2,5,4,11,6,3
43—F— 7,9,8,10,2,5,1,11,4,6,3
[ RN
B OB 9 250M 714K 7-9 170H e & 6-7 210 3ER 2-7-9 2,270
1 B 9 120M 2-9 890F B & 7-9 210 JEH 9-7-2 8,260/
7 1004 2-7 880M B H 9-7 560
2 330M

ARICOVWTRDTEEERROODE. TR LI,




